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>>> vowels = {'a', 'e', "1', 'o', 'u'}
>>> vowels

{'t', 'o', ', 'a', 'e'}

>>>

>>> letters = set('alice')

>>> letters

{'', "1, 'c'y, 'a', 'e'}

>>>

>>> set()

set()
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len(s) : R EIsfTERIT

X in S : QU,—XT:ESED L_EIDTYUQ,
add(x) : EXMExMNESP
discard(x) : ANEXEES iR &
>>> len(vowels)

5

>>> 'e' 1n vowels

True

>>> vowels.add('y")

>>> vowels

{"i.', 'O', vyv, vuv, lal, 'e'}_
>>> vowels.discard('y")

>>> vowels

{l.i-l, lol, lul, la', le'}_
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>>> S = set('abc')
>>> T = set('cd')
>> S | T
{'C', 'a', 'b', 'd'}
>> S & T
{'c"}
>> S - T
{'b', 'a'}
>> S AT
{'b', 'a', 'd'}
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>>> S.

i'b’,

>>> S.

{'c'}

>>> S.

i'b’,

>>> S.

i'b’,

>>> S.

True

N e kk

7\5‘5

|

) BRI - B

union('cd")
'di, 'C', 'ai}
intersection('cd")

difference('cd"’)

'ai}
symmetric_difference('cd")
‘a’, 'd"}
1ssubset('abcd’)
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1def remove_duplication(L):
res = []
for e 1in L:
1T e not 1n res:
res.append(e)
return res
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8def remove_duplication_v1(L):
9 return list(set(L))

TR
>>> set([1, 2, 1, 3, 2, 4, 51 et B |
f1, 2, 3, 4, 5} ZRERGERHT e e
>>> set('hello") BEAAERETTRIIR

{|e|, 'O', |'I-|, 'h'}
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1def jaccard_sim(S, T):

2 if S.union(T):

3 return (len(S.intersection(T)) /
4 len(S.union(T)))

BT RAVIIR

© =l

o =l
b
eIl
o
Jt
DH
>0
fﬁ'l-(
1)
I
-
A|
G
H



